Elementary Test Version 4

A NEW FILM

In his interview to Mitch Forman actor Russ Sparks, the star of a new
independent film. speaks about his new film, The University of Life. | play a young
lawyer. He lives in the centre of New York City, he’s rich, he has a great apartment,
he has a lovely family but he isn’t happy. He has trouble sleeping, and he often works
very late. Then, one day, his life changes when he becomes friends with an old man
at the city hospital. Then he gives up his job at the law firm, and he becomes a song-
writer and jazz pianist.

The title of the film is The University of Life because the old man tells him
simple stories about his life. The lawyer learns a lot from these stories — things he
didn’t learn at expensive private schools and university. These stories help him to
understand himself and be happy. At the end of the film the lawyer loves his new job.
He also has time to enjoy his family again, thanks to the help of the old man. Saleh
al-Ghaoui plays the old man. I love working with him. | learn a lot from him about
acting, too.

1. Match the word “rich ” with its definition.

A) Living in poverty
B) Possessing great material wealth
C) Being poor
D) Possessing no material wealth
E) Being sick
2. Complete the sentence. At the end of the film...
A) the lawyer hates his new job.
B) the lawyer loves his old job.
C) the lawyer loves their new job.
D) the lawyer loves his new job.
E) the lawyer loves his new wife.
3. Choose the sentence with the correct word-order.
A) | young play a lawyer.
B) I play a young lawyer.
C) I lawyer a young play.
D) I a lawyer young play.
E) I play young lawyer a.

4. What is NOT true?

A) A young lawyer lives in the centre of New York City, he’s rich.

B) A not old lawyer lives in the centre of New York City, he’s rich

C) A young lawyer lives in the centre of New York City, he has a lot of money.

D) A young lawyer lives in the centre of London.

E) A young lawyer lives in the centre of New York City, he has got a lot of money.



5. This text is mostly about...
A) An old lawyer
B) University life
C) New York City

D) The City hospital
E) A new film
6 Choose the correct variant. Roberto watching football on TV.
A) likes
B) like
C) to like
D) do like
E) liking
7 Choose the correct variant. | early this morning.
A) got up
B) gets up
C) get up
D) is getting up
E) to get
8 Choose the correct variant. Some of the women hats.
A) wears
B) is wearing

C) are wearing
D) have wearing
E) am wearing
9 Choose the correct variant. Cook the chicken for 3 hours.
A) really
B) well
C) slowly
D) fast
E) fluently
10 Choose the correct variant: I need to put petrol in the car. It’s nearly
empty.
A) any
B) no
C) some
D) something
E) somebody
11 Choose the correct variant. It is today than yesterday.
A) warm
B) as warm as
C) warmer
D) warmest
E) the warmest



12 Replace the noun in brackets with the correct pronoun: He saw (his uncle) at
the party.
A) they
B) he
C) them
D) us
E) him
13 Choose the plural nouns:
A) tree
B) water
C) jeans
D) stamps
E) piece
14 Choose correct sentences
A) With a friend he has sometimes lunch.
B) Friend has lunch with a he sometimes.
C) Lunch has He sometimes with a friend.
D) He sometimes has lunch with a friend.
E) Does he sometimes have lunch with a friend?
15 Choose the correct words: How many are there in the street today?
A) people
B) cars
C) traffic
D) air
E) school
16. Choose the wrong words
A) fridge
B) plate
C) square
D) mistake
E) cooker
17. Choose the correct answers. John's clever and funny and he's
A) good-looking
B) handsome
C) cheap
D) high
E) expensive
18. Continue the list: dining-room, kitchen, living-room, :
19. Answer the question. Write a full sentence. What do you do on Sundays’)

20. Write a suitable variant for the word. (a) difficult



